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Sectlion A; {40 x 2 marks)

Do Questions 1 to 40 carefully.

1. Count the cookies.

There are cookies.




2.

Count and write down the correct number in v;ords.

L8444
L54444

TN T
T gty

3.

How many more cats than dogs are there ?

There are | | more cais than dogs.

4.

Draw more candles to show nine candies.




5. Fill in the boxes with the correct answers.

a. 4lessthan9is

D. | !5 3 more than 3.

6. Use the numbers below to form two numld‘ér—s.enfences._
Use each number only once.




/. Fllin the boxes with ‘more’ or ‘tewer’.

.
L]

a. There are 5 ladybirds | than leaves.

| g
b. There are leo{/es ! than ladybirds.

8. Look at the figure,below and fill in the boxes with the
correct answers.

- ' » Add 3

8 _ | _ 3
\ Subwact2

The value of A s

The value of B is |




9. The picture below is formed by pieces of differentshapes.
Sort the pieces according to their shapes. '

tiangles circles

squares rectangtes

10. Match the numbers to make 10.

———

s | 4




11. Ahmad is thinking of a number and Wei Chin has to guess
the correct number.

The number is fess than
15 but more than 10.

When 3is added to it, it
givesme 17.

The number that Ahmad is thinking of is

12. Tick all the items which do not have the shape of a
tiangte.

Picture frame Ruler Mirror ~ Chalkboard

_

13. Colour the number of shapes that maich the numberin
the box.

*lloooog

.



14. Look at the pictures below and fill in the boxes.

'?'*-":35'53555%55%@%éﬁf@ﬁﬁ&ﬁ@ﬁ@@(ﬁ%ﬂ@&%&fvﬂ% o Zip

- D pencil

crayon

a. The “is the shortest.

b. The pencil is shorter than the

15. Hllin the blanks with * + *or *-' .

a. 18 1 6=12.

b.7 182‘1/5

16. How many tiangles are there in thé_ picture below? |

N

triangles




Tallesf-

18. Look at the pictures below and make a family of number

sentences.




19. Edward is queuing to buy books in front of the bookshop.
There are 7 people in the queue. The last 3 people-are
behind Edward. What position is Edward in the queue?

Edward is in the position.
20. : :
PAEN
@ + 2 = 4

What number does ? n ( stand for ¢

2 ﬁ \ stands for

21.

Tricia has 7 stickers. Felicia has 11 more stickers than her.
How many stickers does Felicia have?

Felecia. had
ﬂqey' have L

stickers aliogether.




22. Look at the picture. Compilete the number bond.

23 When two numbers are added, they make 16.
- When one number is taken oway from the other, ’rhe
answer is 8,

What are the two numbers? _

VA vhy wlg WA

vV V vV

- The two numbers are

and L




24. Mrs Wong used 4 eggs to make a cake and 5'eggs i
make some cookies. She had 2 eggs left.
How many eggs did she have in the beginning?

She had eggs in the beginning.

25. Colour the oval which g:ves the answer 7

@Q

26. What number must be added o 11 to get 202

The numberis

27.

The combis | paperclips long.

Two cofmbs will be paperclips long.

11



28. Look at the number pattern and fill in the blanks.

10 i A B

A stands for

B stands for

29. Circle the2nd vase from the right.
Draw ¢ flower in the 4t vase from the lefi.

30. Owen wanis to form a square. What is the mi_sfsing shape -
that he needs o complete the square? Fill in the blank.

The missing shape that he needsis a |,

12



31. Look at the patiern. Circle the missing shape from the box.

32. 15-9=

33. 1+5+9=

34. Thetotalof 3, 6 and 9 is

35. | +2+1=14

36. Which of the number statements below is correcit?
Put a tick ( v} in the box.

2 + 2is more than 4.

1 +6isless than /.
4+4isequalto9-—-1.
5—21is more than 3 - 0.

13



37. Hitin the circles with the correct answers.
Each side of the triangle must add up to 10.

38. Colour the two shapes that make 20.

13

OJo,

(e




39. Look at the picture below. How many pieces are- not
tiangles?

i plieces

40. Use the diagram below to answer the question
1]
) > pencil
—— —> sr:réw ﬂ$g? -

; ™

g

Each represents 1 unit.

The fs shorter than the total length of the

pencil and key.

15



Section B: {5 x 4 marks)
Do these sums carefully. Show your working clearly.

41. Adamhas 5 blue. toy cars and the rest are red.

If he has 8 toy cars altogether, how many red toy cars
are there?

B

He has red toy cars.

I
!

42. Troy eats 3 sweets and gives 7 sweets to his sister.
How many sweetls did he have af firste

Troy has A. sweets at first.

16



43. Wendy reads 7 books in a week.
Her brother reads 6 more books than her.
How many books did Wendy's brother read?

Wendy's brother read. __ books.

44. Mrs Lee bought 15 apples.
6 of them were roften and the rest were good.
~ How many good apples were there?

There were | good apples.

17



45. Mark and Peter have 9 marbles each.
Peter gives 4 marbles to Mark.
How many marbles would Mark have now ?

O

Mark has _ marbles now.

End of Paper
Please remember to check YOUr answers.

18



EXAM PAPER 2009

SCHOOL : KONG HWA PRIMARY
SUBJECT : PRIMARY 1 MATHEMATICS

TERM @ SAl

7)a)fewer b)more 8)7,10 9)13 triangles 4circles 1 squares 1 rectangles

10)0—10 2—8 3—7 6—4

13)

11)14 12)Picture frame, Mirror, Chalkboard
14)a)crayon b)zip 15)a)- b)+
16)4 17)B,D,C,A 18)5+1=9 6-1=5

19)4™ 20)8 21)18 22)4,9 23)12,4

24)11 25)14-7 26)9 27)5,10 28)A:6 B:8 29)888%888
30)rectangle 31)* 32)6 33)15 34)18

35)11 36)4+4 is equal to 9-1
39)2 40)screwdriver

41)8-5=3
He has 3 red toy cars.

42)3+7=10
Troy has 10 sweets at first.

43)74+6=13
Wendy's brother reads 13 books.

44)15-6=9
There were 9 good apples.

37) " /®\ 38)7,13

45)9+44=13 |
Mark has 13 marbles now.





